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aleration is zero.

n and keep a constant

velocity.

°*T/F When an object changes direction from east to west, its acceleration is

zero for an instant.

y:




yuantities. Make

quantit

*If given no initial position information, initial position is

j/) zero.




*Step 5: Check answer cdncep’ruolly — does the value and

j direction make sense?


















®* Any problem that moves vertically from the Earth’s

surface uses the acceleration of 9.81 m/s?.
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The Moving Man
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https://phet.colorado.edu/en/simulation/legacy/moving-man

